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(a) B[P Circle [V a7 > & Hiﬁl‘f’[%jﬂ int @ radius »
double &Yy area » Siff fY &4 @ W PIAE M"EJ?EF%@?F%?“%%&
radius £, 1 - [ﬂ Eﬁ%iff% I area {fi ; I#J@ﬁéj?ﬁﬁ“ radius - [ﬁj
Eﬁﬁd&tﬁ% I area {fi ; gf1* Radius ~ Area JJ[f[|{#[p! radius - area
if - P R ?ilﬂl (6%)

(b) ?i‘f'ﬁ'jﬁ?’f“ Color > EHF" il > F) byte @gr~g-~ b 7&’/1‘#’@7}%?‘7’}

H%“r‘g‘b*'f@ (3%)

(©) ?‘"’FH,Z?H[J ColoredCircle i} Circle > : E‘F #.t| Color 7@
grcolor > [ﬂ Eﬁ rj{gh F,,%T* FIR=pL Color ﬁﬁjﬁ Color(o, O, O)I%
E color V¥l (6%)

(d) £ AT ColoredCircle Vg4 " ﬁ'fﬁPfPLIQ?%H[JJ/@fFﬁ?“
(6%)

(e) # A ColoredCircle V55 izt GetColor - [H[p5Y FiARE
color (3%)

® F- ?&Uu,_%*’%iﬁ?clred Y r~g-b W(2550 0) -
ColoredCircle #1{%V radius %} 2 » color £} red > F|F|" |45
PSS ~ A D Y BRR R R o e E”’FEEIE Py
g~ bl i (6%)

o IV CAWINDOWS\system32\cmd.exe

olored circle cc is with radius 2, area 12.56637861435%2 -
olored circle cc is with colow: (255, B, 8>
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Circle

- radius ;int
- area : double

+ ==Constructors= Circle) : void

+ ==Constructors= Circlefradius ©int) : void
+ ==Property== Radius{ : int

+ ==Property== Aread : double

ColoredCircle

Program - colar: Colar

.

+ ==Constructors= ColoredCircledradius © int, colar : Color © woid
+ GetColor) - Colar

+ hain woid

==struct==
Color
+ 1 byte
+i: hyte
+ o byte

+==Constructor== Colorr: byte, o byte, b byte) - wvoid

2. U B S S RIT
(2) (3%) ~ [
class A

{
private iInt 1i;
public A(int 1)
{
this.i = i;
¥
public static int Func()

{

return i;

}
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(b) (3%) ~ [rigkizEL
class A

{
private iInt 1i;
public A(int 1)

{
this.i = i;
}
public int I
{
get { return 1; }
}

// RifIRy pVRgriakl] 2
public void Func(int 1)

i *=2
¥
¥
(©) (3%).~ -fisfiEL
class A
{

private Int i;
public A(int 1)

{
this.i = i;
¥
public int I
{
get { return 1; }
¥
¥
class B ©: A
{

private iInt j;
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public B(int i, int j)

- base(1)
{
this.j = j;
}
public int J
{
get { return j; }
}
public void Func()
{
j=
}
}
(@ (3%) ~ i
class A
{

private iInt 1i;
public A(int 1)
{

this.i = i;
¥

public virtual int Func()

{

return i;

}
}

class B - A

{
private iInt j;
public B(int 1, Int j)
- base(1)
{
this.j = j;
¥
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// RISt 2B 8]
public int Func(Q
{

return j;

}
}

() 3%) ~ RS

abstract class A

{
public abstract int FuncA(Q);
¥
abstract class B
{
public abstract int FuncB();
¥
class C : A, B
{
int 1;
public C(int 1)
{
this.i = i;
¥
public int FuncAQ
{
return 1;
¥
public int FuncB()
{
return 1i;
¥
¥

3. EppT \z,]ﬁg;vpaﬁyn (12%)
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using System;

namespace Final2011Problem3

{

class Program
{
static void Main(string[] args)
{

78 5501

Book[] book = new Book[7];

book[0] = new Book("'xtE&F", Eijﬁ% "oy,
“EEY, 2007, "'857.49 5514 2007b v1")'

book[1] = new Book("?ﬁﬁl—rﬁ%}ﬂﬁW' }”T”
VE R, UHET, 1994, U861.57 2200-10° );

book[2] = new Book(' *ELVR"™, "pIHEIT, THEHEHT,
tEfRt, 1987, "'874.57 5046-2');

book[3] = new Book('ZrpuiEfT", "fi"ﬁﬁfi‘l’;@", i?%fi?ll}i'lj
"R, 1985, "175.1 2532");

book[4] = new Book(" ﬁ@hTu, ghﬁ ﬂjfé?
=AY R 2000 "550.1842 5034 2000");

book[5] = new Book("idﬁﬁﬁ", "iﬁﬁ%?", "EE,
"f}ﬁﬁmﬁﬁ", 1967, '"143.45 4412 1967');

book[6] = new Book("fdﬁ—i’i’%ﬂu . TERET, CRITET,
E”_I 1987, '"571.9 2143-75");

DataBase db = new DataBase(book);

// ¥R igS

db.ProcessQueryByAuthor("HPﬁ3Uﬁ")'
db.ProcessQueryByTitle("%fﬁffﬁﬁp s
db.ProcessQueryByCal INumber(*'143.45 4412 1967'");

}

class DataBase

{
private Book[] book;

public DataBase()
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{

book = null;

¥
public DataBase(Book[] book)
{
this.book = book;
¥

public void ProcessQueryByTitle(string title)
{
for (int 1 = 0; 1 < book.Length; ++1)
{
if (book[i].Title == title)
{
book[1] -DisplayData();
bs
bs
Console._WriteLine();
¥
public void ProcessQueryByAuthor(string author)
{
for (int 1 = 0; 1 < book.Length; ++1)
{
it (book[1]-Author == author)
{
book[1] -DisplayData();

}
}

Console_WriteLine();

}
public void ProcessQueryByCal INumber(string
cal INumber)

{
for (int 1 = 0; 1 < book.Length; ++1)
{
it (book[1]-CallNumber == callNumber)

{
book[1] -DisplayData();
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}
}

Console_WriteLine();

}

class Book
{

private string title;

private string author;

private string translator;

private string publisher;

private string year;

private string callNumber;

public Book()

{
title = null;
author = null;
translator = null;
publisher = null;
year = null;
cal INumber = null;

¥

public Book(string title, string author,
string translator, string publisher,
string year, string callNumber)

{
this.title = title;
this.author = author;
this.translator = translator;
this.publisher = publisher;
this.year = year;
this.calINumber = callNumber;

}

public string Title

{

get{ return title; }
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¥
public string Author

{
get{ return author; }
}
public string CallNumber
{
get { return callNumber; }
}
public void DisplayData()
{

Console._WriteLine(title + "\t" +
author + "\t" + translator + "\t"
publisher + "\t + year + "\t" +
cal INumber) ;

}

}

4. BRHRCOS AR G o
() (3%) % Test.dat il £ "
(b) (3%) F#i4 Test.dat =!I CREE R 2 JFL[E
3
123
456
() (3%) Hli 4 Test.dat =7 i i » = [“J*'Fm
3
1* 3
456
(d) (3%) Hli 4 Test.dat =17 it » = [“J*'Fm
3
123
45

// =\ Final2011Problem4
using System;
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using System.10;

namespace Final2011Problem4

{
class Program
{
static void Main(string[] args)
{
string fileName = "Test.dat";
int answer = Test(fileName);
Console._WriteLine('answer = " + answer);
¥
static int Test(string fileName)
{
int result = 0;
try
{

StreamReader i1nput = new
StreamReader (fileName);
Console.WriteLine("ﬁﬁiﬁﬂ?T");

try
{
int nDataPerLine =
int_Parse(input.ReadLine());
int 1;
string line;
string[] dataString = new
string[nDataPerLine];
int data;
int sum = O;
while (Tinput._EndOfStream)
{
line = 1nput.ReadLine();
dataString = line.Sphit(" °);
for (1 = 0; 1 < nDataPerLine; ++1)

{
data = int.Parse(dataString[i]);
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sum += data;

by

s

result = 105 / sum;
bs
catch (FormatException e)
{

Console.WritelLi ne("?[fﬁ?“%?{") ;
bs

catch (DivideByZeroException e)

{
Console.WriteLine("F&!JOFI9 ™) ;

+
catch (Exception e)
{
Console._WriteLine(
“FF TestP 'etry-catchiffE| 9 ) ;
Console._WriteLine(
“FF TestP '@try-catchf | #HifI9) ;
throw e;
+
finally
{
input.Close();
Console.WritelLi ne("ﬁ?ii’%ﬁlﬁfj") ;
+
+
catch(FileNotFoundException e)
{
Console.WriteLine("ﬁﬁi”?f?ét");
+
catch (Exception e)
{
Console._WriteLine(
"FrF Testit try-catchif i E[ Rt ™) ;
+

return result;
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E*JI%JLFJ TextBox P4{F textBox1 » textBox2 - [fi| rfﬁzi Hﬁ—ﬁﬂﬁ%t Button
P11 buttonl -

# MainForm D@

EHAEINE |25 |
w33 | &‘
P BCFIRS S8
TETE

// % MainForm.cs

using System.Data;

using System.Drawing;

using System.Linqg;

using System.Text;

using System.Windows.Forms;

namespace Final2011Problem5

{

public partial class MainForm : Form
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public MainForm(Q)

{
InitializeComponent();
¥
private void buttonl Click(object sender, EventArgs €e)
{
//********************************************
// ll#*’J[ﬂ ’U‘E':—Hﬁ«ﬂﬁ%
/ *hkIIkkhkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkikikiikk
¥

6. HEHI [ o AR (Pocket Monster)f:z;w%" FIFY 30 f 38 o £
R THIRE > P el f = TZLFIIE T M%}'«\EH - [HI" [[—W@r[JE.EIpJn‘F[,
35 R S B S‘F—Aﬁﬁwﬂiéﬁ ElllT lﬁéﬁ%xﬁﬁu%ﬁrw e ELE LS
(Pikachiu)

. ﬁ’_

¥
4 ~ piEFE =" (Bulbasaur)

5 [l A PRSI
4= rand.Next() % 16 + 1

IpigFE=" - (randl.Next() % 10) + (rand2.Next() % 5) + 1
GBI G EED

grdis : (rand.Next() % 20 - 5) % 10 + 1
G2, [i=rE> L)

GG GRS S, i) BRI
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o IV CAWINDOWS\system32\cmd.exe

Pikachiu at 11
Bulbasaur at 9
Sguirtle at 1

Pikachiu at 18
Bulbasaur at 23
Sguirtle at —1

Pikachiu at 23
Bulbasaur at 36
Sguirtle at 3

Bulbaszaur wins

FRIAILE SHEE - - - -l

PJ R IR A T AL - P T I - e 13
S35 ORI TR 2 EIE o el 20 55 5 Dl R IR A 2R
f iyt 25 55 -

(25%)

SIS RE 0 = % 4%) A FPHE > R
(a) = FREIEEE 7 R e ?
(b) Hi- fﬁmﬁ*‘i&” b e 2
(c) &
&

(d)
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